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Gender Age class Highest educational title: Professional activity Socio-economic grade General Elections 2019 Ref2016
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Unweighted Sample 1644 1645 809 836 459 266 281 257 382 233 470 339 552 50 179 896 375 195 411 456 770 503 338 126 56 553 625
Weighted Sample 1635 1642 804 838 459 265 283 252 383 227 451 344 561 57 177 896 370 199 430 S 760 483 355 128 29 558 602
If there were a General Election tomorrow, Gender Age class Highest educational title: Professional activity Socio-economic grade General Elections 2019 Ref2016
would you go to vote? Use a scale of 1 to 10, 2
Q
where 1 means that you would not vote and = 2 g
10 means that you would certainly vote. B5 3 %
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1/2/3/14 24% 21% 17%  25% 33% 18% 17% | 13% 15% 12% | 15% @ 25% | 27% 29% 27% 21%  15% 30% 29% | 18% 18% 6% 4% 8% 14% 8% | 14%
5/6 1% 10% 10%  10% 9% 10%  12%  11% 10% 7% 8% 16% 9% 9% 8% 10% 11% | 10%  12%  11% 8% 11% 5% 12% 5% 7% | 10%
718 22% 22% 21%  22% 27% 31% 18% 17% 13% 22% | 23% | 21% | 19% 37%  12% 28%  12% | 18% 15% | 28% 22% | 23% | 22% 14% = 33% 20% 23%
9/10 43% 47% 52%  43% 31% 41% 53% 58%  61% 59% @ 54%  38% | 45%  21%  53% 41% 61% 42% 44% 42% 52% 60% @ 69% 66% @ 48%  65%  53%
Don’t know/Prefer not to say 1% 1% 4% 1% 1%
Total 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% | 100%  100% 100% 100% 100% 100% 100% 100% 100% 100% 100%  100% @ 100%  100% 100% 100%

Due to rounding, the sum may be different from 100%



echne

Data « Consulting « Public Affairs
FIELDWORK: July 14th

Gender Age class Highest educational title: Professional activity Socio-economic grade General Elections 2019 Ref2016
' . 5 S S ° 2
g 02| 3§ 5 5 S 5
° e o 7 .8 c ] ] ° S > S
Number of cases % % § g g %%%’Q@%ﬁ E o | 2 B p : %§ z g z
g g £ > s ot fo@ . w <) ) o 5] aQ =) g a [=] £
o < < < < & =foff509 = = == £ 3 32 o g = o 2 5 © c £ ©
UK UK e | B2 Y| Y|V | s ER5Ewes £ | g5 |fe| = | e £ |22 |, |2 g5 2 s g E | 5
JULY7ht JULY14ht] £ | & | 2 | 8 | ¢ | g & Z8ASESS & |88 £ 8 | & & | 8 | S 5 R |85 | = 2 5 e | 3
Unweighted Sample 1644 1645 809 836 459 266 281 257 382 233 470 339 552 50 179 896 375 195 411 456 770 503 338 126 56 553 625
Weighted Sample 1635 1642 804 838 459 265 283 252 383 227 451 344 561 57 177 896 370 199 430 S 760 483 355 128 29 558 602
Which political party would you vote for? Gender Age class Highest educational title: Professional activity Socio-economic grade General Elections 2019 Ref2016
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Labour Party 27% 28% 29%  27% 27% 32% 32% | 27% 23% 33% | 32% @ 26% @ 24% 17% 31%  28% 22% 34% 26% @ 34% 25% 9% 5% @ 21% 13% | 44% 17%
Conservative and Unionist Party 19% 21% 23%  19% 14% 16% 19% 29% 30% 19% | 23% | 15% | 24% 22% 20% 20% 31%  10% 15% | 20% 25% @ 61% 2% 6% 5% 16% | 38%
Liberal Democrats 9% 9% 10% 8% 7% 11% 9% 7% 10% 11% 1% 6% 8% 2% 4%  10%  10% 6% 6% 7% 11% 9% 5% 47% 4% 12% | 9%
Green Party 4% 4% 4% 4% 5% 5% 4% | 3% 3% 7% 5% 3% 2% 8% 5% 4% | 3% 5% 5% 4% 4% 1% 8% 5% 56% @ 6% | 3%
Scottish National Party 3% 3% 3% | 3% 3% 3% 4% 3% 3% 5% 4% 4% 1% 3% 2% 4% | 3% 3% 2% 4% 3% 0% 1% 4% | 2%
Other party 4% 4% 5% | 3% 4% 5% 3% 6% 4% 3% 4% 6% 4% 5% 5% | 3% 3% 5% 4% 4% 3% 1% 0% 3% | 8%
Wouldn't vote 24% 21% 17% | 25% 33% | 17%  17%  14% 15% 11% 13% @ 26% @ 27% 29% 26% 20%  14% 31%  29% @ 18% 18% 6% 5% 8% 14% | 8%  14%
Uncertain 11% 1% 10% | 1% 8% | 12%  12% | 11% 12% 11% 8% 15% 9% 13% 8% 10%  14% 10%  12% | 9% 1% = 10% 5% 13% 8% 7% | 10%
Prefer not to say 1% 1% 5% 1% 1%
Total 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Which political party would you vote for? Gender Age class Highest educational title: Professional activity Socio-economic grade General Elections 2019 Ref2016
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Labour Party 41% 40% 39%  42% 45% 45% | 45% 36% | 32% 42% @ 41% @ 45% | 38% @ 32% | 47% 40% 31% 56% 45% @ 47% 34% | 11% | 83% | 27% 17% | 51%  23%
Conservative and Unionist Party 29% 31% 31%  30% 23% 23% | 27%  38% | 42% 24% @ 30% @ 25% | 38% 42% | 31% 28% 43% 16% 26% 27% 35% | 73% 2% 7% 6% 19% | 50%
Liberal Democrats 14% 13% 13% | 12%  12%  15% 12% | 10% 14% 15% @ 14% @ 10% | 13% 4% 6% 14% | 14%  10%  11% @ 9% 16% @ 11% 6% 59% 6% 14% | 12%
Green Party 6% 6% 5% 6% 9% 7% 6% 3% @ 4% 9% 7% 4% 4% 15% 8% 6% 4% 8% 8% 5% 5% 1% 8% 6% 1% | 7% | 3%
Scottish National Party 4% 4% 4% 4% | 5% 4% | 5% @ 5% 3% 6% 4% 6% 2% 6% 2% 5% | 4% 4% 3% 5% 5% 1% 4% | 3%
Other party 6% 6% 8% | 6% 6% 6% 5% 8% 5% 4% 4% 10% 5% 1% 6% 7% | 4% 6% 7% 7% 5% 4% 1% 5% | 9%
Total 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% | 100%  100% 100% 100% 100% 100% 100% 100% 100% 100% 100%  100%  100%  100% 100% 100%

Due to rounding, the sum may be different from 100%



